HSSC CET Mains MPHW Question Paper 7 Jan 2024

1.

Leukopaiesis leads to the formntion of

(A) Granulocyte, L}-mphncytr,
Monocyte
%

(B] Erythrocyle, Lymphocyte,
Maonocyte

(C] Monocyte, Grnnuloqvtc_
Ervthrocyte

(D) None of the nbove

[E] Not attempted

The deficiency of Vitamin D causes
(A) Goitre (B) Rickets

(C) Beri-beri (D) Scurvy

(E) Not attempted

Which of the following converts
inactive prothrombin into aetive
'fhrnmbin in the presence of calcium
ions ?

|+"'4.] Hcp.irm

(B) Thromboplastin

(C} Fibrin

(D) Fibrinogen

(E} Not attempted

Which iz an anticoagulant preferred
for Complete Blood Count ([CBC)
determination P

(A) Heparn

(B} Sodium fluoride

(€} Dipotassium ERTA

D) Sedium citrate

(E} Not attempted

————— allows you to input
commands without typing long strings
of characters or navigating menus or
dialog boxes,

(A) Enter key

(C) ESC key

(E) Not attempted

M) CTRL key
(D) Function key
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10.

*ney results in

[EI Vitamin D
o } v{t'““'].{" H

Whi

'¢ Blood gy :
Containg g WBC) pipette bulb
(A} White “‘““{a Blass bead.
(C) Req Blacy

IE] Not ﬂtltmptcd"}] Dflﬂgz

Which ig the b
India ?

(A) Kunchileal waterfaiig
(B) Nohkalikai waterfalls
(C) Barchipani waterfalls
(D) None of the abave
(E) Not attempted

ghest waterfall in

A reduction below normal level in the
concentration of hemoglobin or red
blood cells in blood is known as

{A) Thalassemia

(B) Anemia

(C) Pneumonia

(D) Sickle cell hemoglobin

(E) Not attempted
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11, Chamber presaure for nutoclave is

(A) S0 I per square inch
(B3} 10 1b per aqunre inclh

(C) 25 Ib per squnare inch %
) 15 Ib per square inch O o »
(1) Not attempted

The famaus ‘Bagh Caves' are located in
(A) Chhnttisgarh
(B) Utar I'raclesh

(C) Jharkhand
(D) Madhya P’radesh

(E) Not attempled

12.

13. CPR stands for
(A) Cardio Protective Resuscitation

(B} Cardio I"'ulmonary Resuscitation
(C) Cardio Primary Resuscitation
(D) None of the above

(E] Not attempted

is n specific charncter
string that constitutes a reference to

14.

Il résSource.
(A) Simple Mail Transfer Protocol

(B) Hyper Text Transfer Protocol
(C}] Domain Name System

(D) Un:iform Resource Locntor
(E} Not attempted

15. Normal value of haemoglobin in
womern is
(A) 12-18 g/d!
(B] 12 - 16.5 g/di
(C) 10 -12 p/dl
(D] B.5-12 g/d1
(E) Not attempted
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(D) 8.5-12 g/d!

(E) 3rwafed
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1B.
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Hy= Mx2 « - . o
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(C] 5

wes g
(E) Not Attempted i

WB:‘ ch of the foliowing tests iy
performed by us(n .
(A) Denpue ¥ using EDTA plood 7
(M) lHematocrit

(C) Lipid profile

(D) Reactive protein

(E} Not attempted

The vaccine whicl ig o
tubereuloais i i3 given to prevent
(A} TD

([C} DPT

(E) Not attempred

(B) Tr
D) BCG

Find Lhe value of x.

13 12 5
17 15 A
25 24 ¥
29 21 20

(A) 11
) 7
(E) Not attempted

B) 15
ioj9

Who is the father of anliscplic
surgery ?

(A) Joseph Lister

(B) Robert Koch

(C) Paul Ehrlich

(I3} Antony Van Leeuwenhock

(E) Not attempted
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22.

23.

24,

2s.

Firat nid kit should contnin
() Antiseptics

(3) Scissors and forceps
(C) Bandages

(N All of the above

[]-:_! Ml attempted

e

which number will come in the place
of queston mnrk ?

198, 194, 185, 169, ?

(A) 136 (13) 144

() 92 (D) 112

{E) Not attempted

Parasites with bile stained eggs arc
(A} Anchy lostoma dundenale

(8) Trichuris Trichiura

(C) Giardin lamblia

(D] Entamoeba histolytica

(F) Not atter pted

Which are the only cell type present
in normal scmen ?

(A) Merozoa (B) Erythrozoa
(C) Sporozoa (D) Spermatozoa
(E) Not attempted

Choose the mirror image of the
following figure.
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27.

30.

The procesy

by wiy ;
i - i
19 macde free of m|rh mirface or med

15 called

(A) Disinfection,
(B) Sterilisation
(C) Antiseptics
(D) Asepsis

(E] Not ntttmpr_gd

mimiurg,nnin ms

Which of the followin
of granulocyte 7

(A) Lymphocyte
(B} Monocyte

P is an example

(C] Neutruphil
() None of the above
(E] Not attempted

Jhajjar district of Haryana was earlier
part of this distriet

{A) Rohtak (H) Rewari

(C) Sirsa (1Y) Hisar

(E) Not attempted

Which of the following is the job of
the receplionist at a clinic ?

(A} Ta welcome the patient

{B) To puide the patient

{C) Register the patient

(D] All of the abave

() Not attempted

Total APGAR score is
(A) 10 B8 9
(€) 8 b

(E) Not attempted
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% A Constitution which can be amended
31, ¢ casily in the same way as {hat of
pll“*““" the ordinary laws jg known ns
(A wiitten Constitiution
) unwritten Constitutinn %
() Flexible Constilution 1y
() Rigid Constituition
(E) Not altempted

32. The causative agent of enteric fever js
(A] Proteus
1) Salmonella typhi
(C) Shigella
(D) Klecbsiella
(E] Not attempted

33. Which of the fallmving graph is in
circular shape ?
(A} Line chart (B) Pie chart
(C) Histogram (D) Bar chart
(E) Not attempted

34. is a network that
connects computers, mobile phones,
tablet, mouse, printer, elc., placed at
a limited distance.

{A] Wide Area Network (WARN)

(B) Metropolitan Aren Network (MAN)
(C} Local Area Network {LAN)

(D) Particular Area Network (PAN)
(E) Not attempted

35. Which is an immediate medieal
assistance given to a injured person ?
(A) Medication
(L) Antiseptic
(C) First aid
(D) None of the above
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(E) Not attempted
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36.

a7.

a8,

39,

40,

41.

Which metn) jq
Trades" »

(Al Manganese
(C] lran

(E] Not atlempre

Colled 4 “Jack of nll

(8] Gold
(D} Alyminium

Which of the ful!uw{ng ia the

transport mediym of Vibrio Cholera P

(A) Stuan's Medium

() Alkaline Peplone water

(C) Venkatraman Romakrishnan
Medium

(D) None of the above

(E) Not attempted

Lo

[z =

The skeleton of the human head is

colled
(A) Lacrimal (B) Palatine
IC) Maxilla (D) Skull

(E) Not attempted

The first milk secreted by the breast

is ealled
[A) Colostrum (B} Primary milk
[C) Fore milk (D) Hind milk

(E] Not attempted

Animals with notochord are called
{A) Non-chordates

(B) Triploblasticans

(C) Chordates

(D) Invertebrates

(E] Not attempted

Which of the following bacteria grows

in clusters ? ‘
(A) Pneumococci (B) Meninpococel

(C) Streptococetl (D) Staphylocaced
(E) Not attempted
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42. Increase in the percenlage of

neutrophil is ealled
i

(A) Neutroeytosis
ofB) Eosinophilia
(C) Neutrophilin
(D) Neutropenia
(E) Not attempted

Shape of NH, is

(A) Trigonal pyramida|
(B) Square pyramidy)
(C) Bent

(D) Sce-saw

(E) Not attempted

Which is the latera] and smaller bone
of the leg ?

(A) Patela
(13) Femur
(C) Talus
(D) Fibula
[E] Not attempted

45. Monocytosis is observed in
(A] Whooping cough

(B} Malarin

(C) Asthma

(D) Skin infection

(E) Not attempted
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47.

49,

50.

51.

Infancy Period jy

(A) First 28 days of i
(B) Upto 1 ypqy ufﬂg:
(C) 1-4 Years gf nge
(D) None of the aboye
(E) Not attempteq

The skull consisig ofhow many
bones ?

" 7
(C) 28 e
(E] Not attempted

(B) 42
(D) 32

Hypovolemia is a condition of
(A} Decreased heart rate
(B) Increased blood volume

(C) Decreased blood volume
(D) Inereased heart rate
(E) Not attempted
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[E) Not attempted

Escape of blood from the blood
vessels is known as

(A) Tachycardia

(B] Hemorrhage

(C) Bradycardia

(D) None of the above
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52,

53.

55.

56.

Which is the lonpest bone of arm 7
(A] Ulna (3) Radial
(C} Clavicle (D) Humerys

(IZ) Not attempted %

Which of the following ig Spore
forming baclerig ?

[A) Shigella

(13) Clostridium welchyjj

(C) Sunphylococeys Aureus
(D) E.coli

(E) Not attempted

Two discs of same material ang
thickness have radii g o mand 0.6 m.
Their moment of inertia about their
axcs will be in the ratio

A)1:9 (B) 1:3

(C) 1:81 WO 1:97

[E) Not attempted

Which of the fnlluwing is an example
of RNA Virus ?

(A) Paramyxovirus

(B) Pox virus

(C) Parvovirus

(D) Herpesvirus

(E) Not attempted

Which is the medial bone of the
forearm ?

(A) Ulna

(B) Scapula

(C) Clavicle

(D) Humerus

(E) Not attempted
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59,

61.

Which ;

81

To he “Misntive fiyn of
Fulosig o sus

(A) ﬁﬂncr[-;illua ni
B Iger
Ndiedg Kruse;
% :
{I | Crypmmccua neoformanas
(D) Candidq albicang
(E} Not attempteg

e

jWh:'ch type of Cultivation / fyrming
18 also known ag “Slash ang Burn
Agriculture” »

(A) Mixed farming

(B) Plantation farming

(C) Subsistence !'B.nhing

(D) Shifting cultivation

(E) Not attempted

How many p_ha_i._m_gc_s__ are thers in
each foot ?

(A) 22

C) 14

(E] Not attempted

(B) 24
(D) 12

Neurogenic shock is caused due to
(A) Spinal or head injury

(B} Internal bleeding

(C) Severe infection

(D) Severe allergy

(E] Not attempted
Freedom fighter Rao Tula Ram
died in

(A) Nepal

(C) Pakistan
(E) Not attempted

(B] Burma

{D) Afghanistan
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621.

63.

65.

Which of the following is an example
of non-projecting visual nid 7
(A) Flannel board

A : 0[50
(B) Slide projector ®
(C) Opaque projector HER.

(D) None of the abaye
(E) Not attempted

Number of bones iy adult human
body is

(A) 206 (B) 223

(C) 203 (D) 216

(E) Not attempted

Insufficiency of food or food gap is
chief cause of

(A) Protein cnerpy malnutrition
(B) Tedine deficiency disg rders

(C} Nutritional anemig

(D) Low birth weight

(E) Not attempted

The zonal research center of eastern
agro-climatic zone is situated at

district of Haryana.
(A) Karnal (B) Fatehabad
(C) Jind (D) Hisar

(E) Not attempted

Fall of hematocrit values are observed
in

(A) Polycythemia

(B) Anemia

(C) Dehydration

(D) Congenital heart disease

(E) Not attempted
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67.

68.

69.

70.

71.

(B} Smallpoy Virug
() Topovirug
(D) Parvovirys
[E) Not attempleg

Who among the l'ullnwing is the first

woman IPS to become the Police

Commissioner of Gumm in
i
February 2022 2

(A) Geelikn Chauclhm}-
(B) Himanshi Dahiyg
(€) Kala Ramachandran
(DD} Sunita Devi

(E) Not attempted

Scalds are caused by

(A) Accident (B) Shock
(C) Steam (D) Friction
(E) Not attempled

On an average, the birth weight of
healthy babies doubles by

(A) 7 months (B} 9 months
(C) 3 months (D) 5 months
|[E} Mot altempted

Which of the [ollowing is an example
of non-verbal communication ?

(A) Lecture L
(B) Shaking hand .
(C) Discussion

(D) Telecommunication

(E) Not attempted

=15-

CG - MH23

67. A T umqry #a-m 7

69.

71.

(A ﬂrrﬂﬁﬂwmm
(D)~

(C) ﬂiﬁm:gm -
() T E{%

(E) Jremfirn -
Pefaftr i @ o sl wfeen

3. .o, #, s sl 2022 % TR A
gferer smEm w7

() ifamr

(B) fesriaht zfam

(C) e Tz

(D) Then T

(E] 37Tgrém

hes

(A) e
(C) W

(E} WgTHT
amrE Binft Tt 8 9 & W09 6
- # e € S 2
(A) 7R (B) 9 Wl

(C) 3 ip) 5wEA

(E) I

fr=fafan 4 & F-a W-dfes §9)
w1 TF TE R 7

(A) =ETEEH

(B) &4 fram

(C) Tl

(D) gLHETT-.
(E) 3wy
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s
q, Atthe seconil Round Table

'? " -

renee in 10al,

Confe .
& reorpnnisation of the

!lllf'_[:f'.ﬂlﬁl ih
unjal poundnrics nne

of the Ambala Division from PPunjab.

Sir willinm
(A) Si -

Nirdwood

(13) Sir Malcolm [lailey
(C) Sir Geollrey Corbert
(D) Sir Aiguilles Rouges

(E) Not attempted

73. Which of the follawing Award is
started by Government of India

to promote urban sanitation and
recognise cxcellence performance in
environment sanitation ?

(A) Swachha Bharat Puraskar

(B) Nirmal Shahar Puraskar

[C) Nirmal Gram Puraskar

(D) None of the above

(E) Not attempted

74. Which is the unpaired C.nrtl]_ﬂ_gs:_:g_
larynx ?

(A) Thyroid
(C) Arytenoid

[E) Not attempted

[E] Comniculate
(D) Cuneiform

75. Which of the following is not a
communicable disease ?

(A) Tuberculosis and Leprosy
(B} AIDS

(C) Malaria and Filarig

(D} Cancer

':IE] Nﬂt n“fmpted

| {he separation

73.

74.

-15-

75.

i § v ais S g 7
() TR (B) SRR
[C] m {D}W

(E) Jrwaiida c]

%
Frfefaa 7 & FF-11 e 117 87
(A) & im ahh 5

(B) GEH
(C) T 3 Wi

(p) HE
(E) 3SR

_.7(’1'1/ Cﬂf[ g

NE

pw.ﬂ-'
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76,

Ta.

79.

BO.

————— I8 8 malwnie (hat is erented to
senerate revenue for iin developer.
(A) Spyware (13) Adware

(C} Keyloppern
() Not nttempled

2]
Hemeoplobin diluting Muld is %

(A) O.5N Sulphuric acjg
(B) 0.5N Hydrochlorie ncid
(C) 0.IN Sulphuric acil
(D) 0.1N Iydrochloric acid
(E] Not attempted

Westerpren's tube is uscd for

determination of

(A) Erythrocyte Sedimentation Rate
(ESR)

(B) Packed Cell Volume (PCV)

(C) Rerd Blood Cell (RBC)

(D) Mean Corpuscular Volume (MCV)
(E) Not attempted

A ucts as a network
filter and based on the predefined
sccurity rules, it continuously
moiutors and controls the incoming
and outgoing traffic,

(A) Cookies (B) Firewall

(C) Protocols (D) Gateway

(E) Not attempted

Public Health is also called as
(A) Community Health

(B) Public Medicine

(C) Community Medicine

(D) All of the above

(E) Not attempted

{13) None of the abave

-17-

76,

78,

79,

80.

EMEIR v 77 2
(A) 0.5N= vfaz
(B) 0.5N wregrawites ufirs
(C) D.INTE ufye

(D) 0.1N Ertaities wfers

(E) Fmmfam

TR 2 frys frafer 3 e s
i # 7

(A) i dfREem 2 d.uR. )

(B) Y72 &t whepm (..

(C) ® & #w )

(D) ¥ Fafmen ateqy (o.d4.)

(E) 3T

UF ead feed & w9 °§ T
e & ot fuifor e Frdi 3 anum
T A W et 3 AR T 2R T
I R Tam & 3 Fifiw s g
(A) T (B) FIEETe

(C) Frerwia (D) g

(E) swafea

WEAHS FeT F
e |

(A =
(B) mg:ﬁﬁm
(c) Wﬁ;ﬂﬁm
(D) Ivg

(E) s

Wi
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B1. pll of the Cerebrosplnal fluid (CSF) s | 81. TOITHNER VRS (h.vm.om.) w0 pit 2

(A) 7.3-7.4 (A) 7.3-7.4
(B) 7.0-7.8 1) 7.0-7.8
(G 7257w % JC) 7.2-7.4
(D) 6.9-7.6 58 (D) 69-7.6
(E) Not nttempted (E) Femfer
82. Is nn exhaustive B2. — _  _ U%TIH e T 3,

scarching technique where cvery

clement of a given list is compared

el foeht ageh 3 fow o e e
o @reh S =eht =wg @ 6 S R

with the item to be scarched.

. (A) S s

(A} Linear search

(B) Sclection sort (B) Toeramm w2

(C} Bubble sort (C) &=t e

(D) None of the above (D) I9ge § | 18 7l

(E} Not attempted (E] AT

83, Which of the following indicates low
Birth Weight (BW) ?
(A) BW<2.5kg
{B) BW = 2.5 kg
(C) BW > 2,5 kg

g3. P=faftam it & TR- o= % wHa I
w1 T g & 7 -
JA) BW <25 kg
(B) BW=25kg
(C) BW > 2.5 kg
(D) 374 7 | wr§

(E} Not attempted (E) 3mnfea

(D) None of the above

84. Which of the following is the Extrinsic | 84, Prfvfga i @ fa-difuHramfit 7
muscle of the tonguc ?

(A) 35l e~z
:;:; }rnl'l:riur longitudinal ®)
ransverse X
(C) Styloglossus (C) RIFETTH Es
(D) Superior longitudinal (D) Hitfe wiRmefeT
(E) Not attempted l (E) 2roafem

-18-
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85. Abnormal incrense In urine volume I8
known as
(A) Anurin
{B) Oliguria
(C) Palyuria
(D) None of the above
[E] Not asttempted

86. Thr output of the compiler is ealled
(A] Source code

(B) Data code

(C) Objecct code

[D] None of the above

(E] Not attempted

87. Who among the following is not

included in the member of health
care lenm 7

(A) Nursing personnel
(B} Dietician

(C) Physician

(D) Surgeon

(E) Not attempted

88. Persons trained in medicine and

psycholopy are called

(A) Psychiatrist D
(B) Physiotherapist O} k)
(C) Dentist
(D) Surgeon

([E) Not attempted

cG - MH23

85. Tgtﬁtwmiimrrmquwﬁmﬂ%
(Ay T=gfrm

(1) 3nfergfen

JE) ergfen
!D}Sﬂ?ﬂﬁﬂaﬁiqﬁ
(E] Fwarfem
FHEIEE & TIegz
T AT R |

(A) T wig
(B) T FIg

(C) =7z Fre
(D) 3T T | F7§ TET

(E) i

Prfafon 7 § ¥ wneg S@TE o &
wewi i mitE T R 7

(A) FFEn e

(B} FmeR faiun

(c) Tafreas

(D) T

(E) Fwanfim

=

A

86.

B7.

88. Talreamme 3k wHifsm o wfnfem
= @ FE ST R |
_a) mfafess

(B) Tl

(c) g7 Taferas

(D) FH

(E) STwmfim
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B9,

91.

22.

Community llealth can be nchieved

through

(A) Sale Bnvironment and Educntion

(B) Well functioning health system
und estnlilinhing reasponaibility
townrds henlth

(C) Control of communicable and
non-communicable diseases

(D) All of the above ®
{E} Not attempted %
In Structured Que .

to select all thl? da:: ;.::ff;:';fit!lsf .
table, we use which of the following
SELECT =statement 7

(A} SELECT *.* FROM table_name;
(B) SELECT FROM table_name;

{C)] SELECT all FROM table_name:
(D) SELECT * FROM table_name:
(E] Not attempted

¥

Radio iz an example for
{A) Visual aid

(B) Auditory nid

[C) Audio visual aid

(D) None of the above
(E) Not attempted

Which af the fellowing is not the
phase of bacterial growth curve ?
(A) Stationary phase

{B) Lig phase

(C) Lap phase

(D) Log phase

[E) Not attempted

ﬂgi

90.

1.

-20-

92.
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RIS Ereer w1 feas 2w fem

MMAFME 7

() TR vt she favn @

(13) 3r<dl T & W W W T
v+ @

(C) T R M- i & frga &

AB) 39w of

(E) Imaifir

e = dnra (sQL) i Tae
ITEEY W} T2 1 99T G & o
Fr=fafem 4 A feg sELECT TR =
I EE & ?

{A) SELECT *." FROM table_name;
(B} SELECT FROM table_name;
(C) SELECT all FROM table_name;

(D) SELECT * FROM table_name;
(E) Srwania

ez &

(A) 379 TIUA &

(13) =g €O =

C) FRa-7=1 WIwA W
(D) 37 3 A T
(E) st

Fr=rfefias 7 @ s-w e 9f o 6
SRR ? T
(A feut

(B) fem a1 &
(c) = = %
(D) < T

(E) swafim
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93. Which o the fo)

n
cnuse of Morbigy n:;::“—' I::"]T
rinlity in

children below
S years
of oge ?

(A) Accitleny
(13) Dinrthoeal igggy, %
(C) AIDS Chbds
(D) Leprosy

(E)] Not attempteq

94. Convert (011010; 100)_' lo
hexadecimal Number,
(A (1BC),,
(B) (2BC),,
(C) (1AC),,
(D) (2AC),,
(E) Not attempted

95. Which is the medial and larger bone
of the leg ?
(A) Tibia
(B) Patela
(C) Fermur
(D) Radial
(E}) Not attempted

96. The generation of erythrocyte is
called
(A) Hematopoiesis
[B) Thrombopoicsis
[C) Leukopoiesis
(D) Erythropoiesis
(E) Nat attempted

CG - MH23

93. fﬁﬁf@qﬁﬁ‘-ﬂq.m 5 A ¥ I T
] i T Al TR Ram@ T p ?
(A) Tz
JB) Ffm {m
(C) vzm
(D) T iy
(B) Swafag

4. (0110101100), 71 Remrafier s
waferd | o
(A (1BC),
B} (2BC]),,
(€ (1ag),,
(D) (2aQ),,
(F) wafem

0 o )
-D"\ \ ﬁ\fﬂ k:r’lu%t I=

95. & ot ot wdi wt -t & 7
(A) fefear
{B) ween
(C)
m) fewm
(E) Fwzifaa

96, iz & fmiww __ wmoamm
R LERHED

- - - .m E
(B) Hr=mTyER
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97.

98.

100.

Cerebrospinal Nuid (CSF)
examinntion is carried out in the

laboratory mainly for the dingnosis of
[A) Conjunctivitis

JAdC
(B) Meningitis e
[C) Sinusitis
(D) Keratitis

(E} Not attempted

[n Python, trying to add an clement
Lo a [ull stack results in an exception
called

{A) Empty
(C) Full
(E) Not attempted

(B) Non-empty
(D) Overflow

Revised National Tubereulosis
Control Programme (RNTCP) has
achieved nationwide caverape in
(A) April 2006 (B) March 2000

(C) March 2006 (D) March 2005
(E] Not attempted

The ternn thrombopoicsis menns
Reneration of

(A} Platelet

(B) Plasma

(C)} White Blood Cell (WBC)

(D) Red Blood Cell (RBC)

(E) Not attempted

97.

98.

99,

100.

CG - Myg3
AT g (2
R gy g O
fem % il Eras QT—“—_"“ *
(A) T2t
B) Bfrramefeg
(C) Tgmsig
(D) Fwenhy
(E) 3nmifys
T o 25 T ey
HIAR 365 dar 2 |
(A) Empty (B) Nun-cmpt]r
(€) Ful (D) Overflow
(E) 3wfia
(IR A ) § g RN/
T Fat me fi | At
(A) 371 2006  (8) 74 2000
(C) " 2006 () Wi 2005
(E) ammafia
AR TR s
Pt 2
A) e &
(B) e *

(C) uTe =2 qer (g @A)
(D) T =72 3= (erRdia.)
(E) anmfn
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